

Lectured By Dr. H.K. Yadav
Deptt. of Mathematics
Manan College, Darbhanga
B.Sc. Class - XI, Date - 16-04-2020

Miscellaneous Exercise (Set Theory)

Q.1. In each of the following, determine whether the statement is true or false. If it is true, prove it. If it is false, given an example.

- (I) If $x \in A$ and $A \in B$, then $x \in B$ II If $A \subset B$ and $B \subset C$, then $A \subset C$.
(III) If $A \subset B$ and $B \subset C$, then $A \subset C$
(IV) If $A \not\subset B$ and $B \not\subset C$, then $A \not\subset C$
(V) If $x \in A$ and $A \not\subset B$, then $x \in B$
(VI) If $A \subset B$ and $x \notin B$, then $x \notin A$.

Soln (I) Let $A = \{2\}$, $B = \{2, 3\}$

$\Rightarrow 2 \in A$ and $A \in B$ but $2 \notin B$

So, $x \in A$ and $A \in B$ need not imply that $x \in B$.
Which is false.

(II) Let $A = \{2\}$, $B = \{2, 3\}$ and $C = \{\{2, 3\}, 4\}$

$\Rightarrow A \subset B$ and $B \subset C$ but $A \not\subset C$

So, $A \subset B$ and $B \subset C$ need not imply that $A \subset C$.
Which is false.

(III) Let $1 \in A$, then

If $A \subset B \Rightarrow 1 \in B$ and if $B \subset C \Rightarrow 1 \in C$

$\Rightarrow 1 \in A \Rightarrow 1 \in C$.

Hence, $A \subset C$

So, if $A \subset B$ and $B \subset C$, then $A \subset C$

Which is true.

(IV) Let $A = \{1, 2\}$, $B = \{2, 3\}$ and $C = \{1, 3, 4\}$

$\Rightarrow A \not\subset B$ and $B \not\subset C$ but $A \subset C$.

Hence, $A \not\subset B$ and $B \not\subset C$ need not imply that $A \not\subset C$.
Which is false.

(V) Let $A = \{1, 2\}$ and $B = \{2, 3, 4, 5\}$

It is clear that $1 \in A$ and $A \not\subset B$ but $1 \notin B$.

Hence, $x \in A$ and $A \not\subset B$ need not imply that $x \in B$.

and if $x \notin B \Rightarrow x \notin A$

Which is false.

(VI) Let $A \subset B$, then
if $x \in A \Rightarrow x \in B$
and if $x \notin B \Rightarrow x \notin A$.
Which is true.
=

Q. 2. Let A, B and C be the sets such that
 $A \cup B = A \cup C$ and $A \cap B = A \cap C$.
 Show that $B = C$.

Soln: It is given that, $A \cup B = A \cup C$

$$\Rightarrow (A \cup B) \cap C = (A \cup C) \cap C$$

$$\Rightarrow (A \cap C) \cup (B \cap C) = C \quad [\because (A \cup C) \cap C = C]$$

$$\Rightarrow (A \cup B) \cup (B \cap C) = C \quad [\because A \cap C = A \cap B]$$

— (I)

Again, $A \cup B = A \cup C$

$$\Rightarrow (A \cup B) \cap B = (A \cup C) \cap B$$

$$\Rightarrow B = [(A \cap B) \cup (C \cap B)]$$

$$\Rightarrow B = (A \cap B) \cup (B \cap C) \quad [\because (A \cup B) \cap B = B]$$

— (II)

From I and II, we get $B = C$ proved.

Q. 3. Show that the following four conditions are equivalent:

- (i) $A \subset B$ (ii) $A - B = \emptyset$ (iii) $A \cup B = B$ (iv) $A \cap B = A$.

Soln: Since, $A \subset B \Leftrightarrow$ all the elements of A are in B

$$\Leftrightarrow A - B = \emptyset \quad \text{Hence I} \Leftrightarrow \text{(ii)} \quad \text{proved.}$$

(ii) Now, we have $A - B = \emptyset$

$$\Leftrightarrow A \subset B \Leftrightarrow A \cup B = B$$

$$\text{Hence, II} \Leftrightarrow \text{(iii)} \quad \text{proved.}$$

(iii) We have $A \cup B = B$

$$\Leftrightarrow A \subset B \Leftrightarrow A \cap B = A$$

$$\therefore \text{III} \Leftrightarrow \text{IV} \quad \text{proved}$$

(iv) We have $A \cap B = A$

$$\Leftrightarrow A \subset B$$

$$\therefore \text{IV} \Leftrightarrow \text{I} \quad \text{proved.}$$

$$\text{Hence, I} \Leftrightarrow \text{II} \Leftrightarrow \text{III} \Leftrightarrow \text{IV} \quad \text{proved}$$